

Applied Drazin Inverse to Moore-Penrose inverse in rings with involution

by Susilo Hariyanto

Submission date: 16-Feb-2023 04:16AM (UTC+0700)

Submission ID: 2015101810

File name: C-18_organized.pdf (417.79K)

Word count: 1552

Character count: 6753

Applied Drazin Inverse to Moore-Penrose inverse in rings with involution

U Tarmizi^{1,a}, T Udjiani SRRM^{1,2}, S Hariyanto^{1,2}, Harjito² and F A Mansuri¹

¹ Magister of Mathematics, Faculty of Science and Mathematics, Diponegoro University, Semarang 50275, Indonesia

² Department of Mathematics, Faculty of Science and Mathematics, Diponegoro University, Semarang 50275, Indonesia

^aE-mail: uzermagister@gmail.com

Abstract. Moore-Penrose inverse is one of development of generalized inverse. In this paper, we defined and studied a relation between the Moore-Penrose inverse and the Drazin inverse in the setting of rings with involution. The results of this paper are new characterizations of Moore-Penrose inverse by applying Drazin inverse with an algebraic proof.

1. Introduction

Moore-Penrose inverse was independently described by Moore (1920) and Penrose (1955). In numerical linear algebra, the Moore-Penrose inverse is commonly to find the matrix inverse of a singular matrix or rectangular matrix. Besides wide uses in the generalized matrix, Moore-Penrose inverse has also been applied in C^* -algebras (Harte, 1992), C^* -crosses product (Hiroyuki Osaka, 1998), and many more. Many types characteristic of Moore-Penrose Inverse has been found (Dragan S. Djordjevic, Pedro Particioa, etc.). At this paper, we aimed to develop characteristics Moore-Penrose inverse in symmetric elements by Drazin inverse.

The paper is motivated by Mosaic and Djordjevic [2]. It was reported Moore-Penrose inverse had several characteristics including $a^\dagger = (a^*a)^\dagger a^* = a^*(aa^*)^\dagger$ and $(a^*)^\dagger = a(a^*a)^\dagger = (aa^*)^\dagger a$ and $(aa^*a)^\dagger = a^\dagger(a^*)^\dagger a^\dagger$ that changed in the form of Drazin. Furthermore, the form of Drazin is applied to Moore-Penrose inverse with the symmetric rule.

Let R be a ring with identity and $a \in R$. An Involution “*” in a ring is a unary operation $a \rightarrow a^*$ such that :

$$(a^*)^* = a \quad (ab)^* = b^*a^* \quad (a+b)^* = a^*+b^*$$

for all elements $a, b \in R$. An element $a \in R$ satisfying $a = a^*$ is called Hermitian (or symmetric).

Let $a \in R$ is said to be Moore-Penrose (MP) invertible with respect to “†”, if there exist $a^\dagger \in R$ such that :

$$aa^\dagger a = a \quad a^\dagger aa^\dagger = a^\dagger \quad (aa^\dagger)^* = aa^\dagger \quad (a^\dagger a)^* = a^\dagger a$$

Also, the group inverse of $a \in R$ exists if there is a $a^\# \in R$ such that :

$$aa^\# a = a \quad a^\# aa^\# = a^\# \quad aa^\# = a^\# a$$



2
If the group inverse exists then it is unique.

An element $a \in R$ is said to have a Drazin Inverse if there exists $a^D \in R$ such that

$$1 \quad a^D a a^D = a^D \quad a a^D = a^D a \quad a^{k+1} a^D = a^k, \text{ for some non-negative integer } k$$

If $a \in R$ has a Drazin Inverse, then the smallest possible non-negative integer involve in (3) is called the Drazin index of a .

2
As for group inverse and Moore-Penrose inverse, if the Drazin inverse exists then it is unique.

1 2. Applied Drazin Inverse

In this section, we construct several lemmas that used to apply Drazin inverse to Moore Penrose inverse. In the paper of Koliha and Patricio [1] in theorem 5.4 said that Moore-Penrose invertible symmetric element is Drazin inverse. Based on that theorem, we applied Drazin inverse to Moore Penrose inverse that produces new characteristics. Before we apply Drazin inverse to Moore-Penrose inverse, we constructed some properties about Drazin inverse. The following lemma constructed by applied symmetric theorem in Drazin inverse. [4]

Lemma 2.1 Let R be a ring with involution. If $a \in R^\dagger$ then $(a^D)^* = (a^*)^D$

Proof Let $a \in R^\dagger$, first

$$(a^D)^* a^* (a^D)^* = (a^D)^* (a^D a)^* = (a^D a a^D)^* = (a^D)^*,$$

second

$$a^* (a^D)^* = (a^D a)^* = (a a^D)^* = (a^D)^* a^*,$$

third

$$(a^{k+1})^* (a^D)^* = (a^D a^{k+1})^* = (a^{k+1} a^D)^* = (a^k)^*$$

We conclude that $(a^D)^* = (a^*)^D$ ■

4
The following theorem lemma presents a relation between Moore-Penrose inverse and Drazin inverse.

Theorem 2.2 [1] Let R be a ring with involution and $a \in R^\dagger$. If $a^* = a$, then $a^\dagger = a^D$.

Proof. Suppose $a \in R^\dagger$ and $a^* = a$, first

$$a a^D a = a a a^D = a^2 a^D = a$$

second

$$a^D a a^D = a^D$$

third

$$(a a^D)^* = (a^D)^* a^* = a^D a = a a^D$$

fourth

$$(a^D a)^* = a^* (a^D)^* = a a^D = a^D a$$

Because all of the Moore-Penrose rules has been satisfied, so we can conclude that $a^\dagger = a^D$, if $a^* = a$. ■

13
Futhermore, we are modifying theorem 2.2 became to lemma 2.3.

Lemma 2.3 Let R be a ring with involution. If $a \in R^\dagger$, then $(a^* a)^\dagger = (a^* a)^D$.

Proof. Let $a \in R^\dagger$, we get

$$a^* a (a^* a)^D a^* a = a^* a a^* (a^* a)^D a = a^* a a^* a (a^* a)^D = (a^* a)^2 (a^* a)^D = a^* a,$$

and

$$14 \quad (a^* a)^D a^* a (a^* a)^D = (a^* a)^D,$$

also

$$\begin{aligned} \left((a^* a (a^* a)^D)^* \right)^* &= \left((a^* a)^D \right)^* (a^* a)^* = \left((a^* a)^* \right)^D (a^* a)^* = \left(a^* (a^*)^* \right)^D a^* (a^*)^* = (a^* a)^D a^* a \\ &= a^* (a^* a)^D a = a^* a (a^* a)^D \end{aligned}$$

furthermore

$$\begin{aligned} \left((a^* a)^D a^* a \right)^* &= (a^* a)^* \left((a^* a)^D \right)^* = (a^* a)^* \left((a^* a)^* \right)^D = a^* (a^*)^* \left(a^* (a^*)^* \right)^D = a^* a (a^* a)^D \\ &= a^* (a^* a)^D a = (a^* a)^D a^* a \end{aligned}$$

First rule, second rule, third rule, and fourth rule of Moore-Penrose inverse has been satisfied, we can conclude that $(a^* a)^\dagger = (a^* a)^D$. ■

Mosaic and Djordjevic [2] verified that $a^\dagger = (a^* a)^\dagger a^* = a^* (aa^\dagger)^\dagger$ in Theorem 1.2 (g). By using lemma 2.3 and Theorem 1.2 (g) in [2] we get Theorem 2.4.

Theorem 2.4

Let R be a ring with involution. If $a \in R^\dagger$, then $a^\dagger = (a^* a)^D a^* = a^* (aa^*)^D$

Proof. Let $a \in R^\dagger$, we get

$$a^\dagger = a^\dagger aa^\dagger = a^\dagger (aa^\dagger)^* = a^\dagger (a^\dagger)^* a^* = (a^* a)^\dagger a^* = (a^* a)^D a^*$$

and

$$a^\dagger = a^\dagger aa^\dagger = (a^\dagger a)^* a^\dagger = a^* (a^\dagger)^* a^\dagger = a^* (aa^*)^\dagger = a^* (aa^*)^D$$

We conclude that $a^\dagger = (a^* a)^D a^* = a^* (aa^*)^D$. ■

Mosaic and Djordjevic said [2] reported that $(a^*)^\dagger = a(a^* a)^\dagger = (aa^*)^\dagger a$ in Theorem 1.2 (h). By using Theorem 2.4 and Theorem 1.2 (h) in [2] on we get Theorem 2.5.

Theorem 2.5

Let R be a ring with involution. If $a \in R^\dagger$, then $(a^*)^\dagger = a(a^* a)^D = (aa^*)^D a$

Proof. Let $a \in R^\dagger$, we get

$$\begin{aligned} (a^*)^\dagger &= a(a^* a)^\dagger = aa^\dagger (a^\dagger)^* = aa^\dagger (a^*)^\dagger = a(a^* a)^D a^* \left(a^* (a^*)^* \right)^D (a^*)^* = a(a^* a)^D a^* (a^* a)^D a \\ &= a(a^* a)^D a^* a (a^* a)^D = a(a^* a)^D \end{aligned}$$

and

$$\begin{aligned} (a^*)^\dagger &= (aa^*)^\dagger a = (a^\dagger)^* a^\dagger a = (a^*)^\dagger a^\dagger a = \left((a^*)^* a^* \right)^D (a^*)^* (aa^*)^D a^\dagger a = (aa^*)^D a (aa^*)^D a^\dagger a \\ &= (aa^*)^D aa^* (aa^*)^D a = (aa^*)^D a \end{aligned}$$

We conclude that $(a^*)^\dagger = a(a^* a)^D = (aa^*)^D a$. ■

Mosaic and Djordjevic said in lemma 2.1 that $(aa^* a)^\dagger = a^\dagger (a^*)^\dagger a^\dagger$. By using Theorem 2.2 and lemma 2.1 in [2] we get Theorem 2.6.

Theorem 2.6

Let R be a ring with involution. If $a \in R^\dagger$, then $(aa^*a)^\dagger = a^D (a^*)^D a^D$

Proof. Let $a \in R^\dagger$, we get

First

$$\begin{aligned} aa^*a(aa^*a)^D aa^*a &= aa^*aa^D(a^*)^D a^D aa^*a = aa^*a(a^*)^D a^D a^*a = a^2(a^*)^2(a^D)^* a^D a \\ &= a^2(a^D a^2)^* a^D a = a^2(a^*)^* a^D a = a^2 a^D a^* a = aa^*a \end{aligned}$$

Second

$$\begin{aligned} (aa^*a)^D aa^*a(aa^*a)^D &= a^D(a^*)^D a^D aa^*aa^D(a^*)^D a^D = (a^*)^D a^D aa^D a^* a^D aa^D(a^*)^D \\ &= (a^*)^D a^D a^* a^D (a^*)^D = a^D(a^D aa^D)^* a^D = a^D(a^D)^* a^D = a^D(a^*)^D a^D \end{aligned}$$

Third

$$\begin{aligned} (aa^*a(aa^*a)^D)^* &= (a^D(a^*)^D a^D)^* (aa^*a)^* = a^D(a^D)^* a^* (a^D)^* aa^* = a^D(a^D aa^D)^* aa^* = a^D(a^D)^* aa^* \\ &= aa^* a^D (a^*)^D = aa^* a^D aa^D (a^*)^D = aa^* aa^D (aa^*)^D = aa^* a (aa^* a)^D \end{aligned}$$

Fourth

$$\begin{aligned} ((aa^*a)^D aa^*a)^* &= (aa^*a)^* (a^D(a^*)^D a^D)^* = (a^*)^* a^* (a^D)^* (a^D(a^*)^D)^* = a^* a (a^D)^* a^* (a^D)^* a^D \\ &= a^* a (a^D aa^D)^* a^D = a^* a (a^D)^* a^D = (a^*)^D a^D a^* a = a^D(a^*)^D a^D aa^* a = (aa^*a)^D aa^* a \end{aligned}$$

So Moore-Penrose inverse has been satisfied, we can conclude that $(aa^*a)^\dagger = a^D (a^*)^D a^D$ ■

3. Conclusion

Moore-Penrose inverse is very important in finding matrix inverse that singular matrix or rectangular matrix. There are many characters in Moore-Penrose inverse, but there is no developments in recent years. In this paper, we constructed new characteristic in Moore-Penrose by applied Drazin inverse in

Moore-Penrose inverse with algebraic proof. The results are $a^\dagger = (a^*a)^D a^* = a^*(aa^*)^D$ and

$$(a^*)^\dagger = a(a^*a)^D = (aa^*)^D a \text{ also } (aa^*a)^\dagger = a^D (a^*)^D a^D .$$

References

- [1] J.J. Koliha and Pedro Patricio 2002 *Australian Mathematical Society*. **72** 137
- [2] Dijana Masic and Dragan S. Djordjevic 2009 *Linear Algebra Appl.* **431** 732
- [3] J.J. Koliha, Dragan Djordjevic and Dragana Cvetkovic 2007 *Algebra Appl.* **426** 371
- [4] J.J. Koliha 1999 *Math. Proc. Ir. Acad.* **99A** 17
- [5] Pedro Patricio and Roland Puystjens 2004 *Linear Algebra and its Applications* **389** 159

Applied Drazin Inverse to Moore-Penrose inverse in rings with involution

ORIGINALITY REPORT

16%

SIMILARITY INDEX

2%

INTERNET SOURCES

13%

PUBLICATIONS

7%

STUDENT PAPERS

PRIMARY SOURCES

- 1** Rakoc@?evic, V.. "The representation and approximation of the W-weighted Drazin inverse of linear operators in Hilbert space", Applied Mathematics and Computation, 20030905
Publication 2%
 - 2** Yaoming Yu, Guorong Wang. "The generalized inverse over commutative rings", Linear and Multilinear Algebra, 2006
Publication 2%
 - 3** B. Raddatz. "Molecular typing of Cryptococcus neoformans by PCR fingerprinting, in comparison with serotyping and Fourier transform infrared-spectroscopy-based phenotyping", Medical Mycology, 4/1/2004
Publication 2%
 - 4** Honglin Zou, Jianlong Chen, Pedro Patrício. "Characterizations of -EP elements in rings ", Linear and Multilinear Algebra, 2017
Publication 1%
-

5	Naimin Zhang. "Solving EP singular linear systems", International Journal of Computer Mathematics, 11/1/2004 Publication	1 %
6	Submitted to Davidson County Schools Student Paper	1 %
7	Submitted to University of Durham Student Paper	1 %
8	Submitted to University of Southampton Student Paper	1 %
9	Yongge Tian, Bo Jiang. "Closed-form formulas for calculating the max-min ranks of a triple matrix product composed by generalized inverses", Computational and Applied Mathematics, 2018 Publication	1 %
10	www.studypool.com Internet Source	1 %
11	Carlos Zapata-Carratala. "Dimensioned Algebra: Mathematics with Physical Quantities", La Matematica, 2022 Publication	1 %
12	Yao Chen, Jian Feng. "Efficient Method for Moore-Penrose Inverse Problems Involving Symmetric Structures Based on Group	1 %

Theory", Journal of Computing in Civil Engineering, 2014

Publication

13	core.ac.uk Internet Source	1 %
14	Submitted to Anglia Ruskin University Student Paper	1 %
15	Submitted to RMIT University Student Paper	1 %
16	V. Luzzati. "Traitement statistique des erreurs dans la determination des structures cristallines", Acta Crystallographica, 11/10/1952 Publication	1 %
17	Youshen Xia, Tianping Chen, Jinjun Shan. "A Novel Iterative Method for Computing Generalized Inverse", Neural Computation, 2014 Publication	1 %

Exclude quotes On

Exclude matches Off

Exclude bibliography On

Applied Drazin Inverse to Moore-Penrose inverse in rings with involution

GRADEMARK REPORT

FINAL GRADE

/100

GENERAL COMMENTS

Instructor

PAGE 1

PAGE 2

PAGE 3

PAGE 4
